Chapter 8  Energy  Test      1                    Name _____________________________
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1.
Fill in the blanks for the two systems shown.

2.
How many strands of rope support the 600-N weight? ___


What is the tension in each strand? __________


If the man pulls his end down 60 cm, how many cm will 


the weight rise? ________


The mechanical advantage of the system is ______.


If the man exerts 50 joules of work, what will be the


Increase of PE of the 600-N weight? ____________

3
A force sets an object in motion. 

	When a force is multiplied by the time the force is applied to an object:
	When a force is multiplied by the distance an object travels:

	a. The product is called _________________.

b. The product has units of _______________.

c. The product causes a change in ________________,

d. which has units of: _____________________.


	a. The product is called _________________.

b. The product has units of _______________.

c. The product causes a change in ________________,

d. which has units of: _____________________.


4.
Work is required to lift a barbell. How many times more work is required to lift the barbell three times as high? ____________

5.
Which requires more work, Place a check mark in front of the correct answer.

___ a. lifting a 10-N load a vertical distance of 2 m or 


___ b. lifting a 5-N load a vertical distance of 4.2 m? 

6.
How many joules of work are done on an object when a force of 10 N pushes it a distance of 20 m?

___________________

7.
How much work is done on a 10 N object when it is lowered 2 meters?

___________________

8.
How much work is done to a suitcase of weight 17 N is carried 14 meters?


___________________

9.
The loading station for a 120 kg roller coaster is 3 meters above ground level. The top of the lift hill is 67 meters above ground level. The bottom of the first hill is 12 meters above ground level.


a.
What is the potential energy at locations?   3 m: ______________   67 m: ______________   12 m ______________?


b.
What is the kinetic energy at 12 m location?  ____________


c.
What is the speed of the car at 12 m location?  ____________

10.
Dr Taylor has a weight of 675 Newtons. He eats 15 Hershey candy kisses.
1 candy kisses contain 15 CALORIES.

1 CALORIE contains 1000 calories.

1 calorie contains 4.19 Joules
a. How much energy is in the 15 Hershey candy kisses?  _______________

b. How far (in meters) must he run up a mountain to use up the energy. _______________
10.
While driving home yesterday, I applied a steady force to my brake pedal in stopping my car from a speed of 35 miles/hour (15.65 m/s). The car came to rest in 5.22 seconds. The mass of the car is 1720 kg. 

a. What average force [in Newtons] did the ground push on the car to stop it? (Hint: I = F (t = m (v)


b.
How far [in m] did the car travel in coming to a complete stop? (Hint: W = F (d = (KE    KE = 1/2mv2)
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